e

Who was acclaimed as the “Diamond of India”, due to his invaluable services to the
Nation? : : : :

(B)

- (©

D)
(E)

: M Gopala Krishna G.okh.-ale

Bala Gangadhar Tilak
Sardar Vallabhai Patel

- Lala Lajpat Rai

Answer not known

elemawdliiLmnp Cemeuserte @bluireller eeuroms Lmym L LU L aJfT wmi?

(A)
(B)

(©

D)

(®

CariLives .éi@@'qaem GansGa

LITQ SRIGTSIT SlesT
grgmT eueveumi L GL e

QUITEVIT GLERLIGTITIL

' aﬁ]ml_ GgMwelleene

Kamaraj was elected as the Chairman of Virudhunagar Municipality in 1941 when

he was in

W Vellore Jail

(C)

)
(E)

_Palayamkottal dJ a11

Virudhunagar Jail
Madras Jail

Answer not known

1941-2p1b <pemh eNmEIBST Easqni_é] SRS SMOYTERNT Gg,ﬁp@g,@&ﬂ;uui_l_ Gung syeur

QoHs @rb

(4 Gaugwi den

0 e Cani ol Sep
i e

D) Qs gred A

B e Osfluciama

. S pieaken
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3 The policy of British rule in India was

I(A) Castleés Sociéty
(B)  Unity in Diversity
(€ Opae Door Policy
(DN Divide and Rule
(E)

Answer not known

.@‘r_'rggﬂturrsﬁ]sb <2 mdCewisar Wernhiw @a;rr@hméa '

@)
®B)
(©)

()
(B)

sTBLHD sappTLID
GG)J[DQJG&L_DUE]'@ @@@Jé)m
Qﬁlmgég;@euéﬂé; Qs méTens:
AfgsmEsL> Qamatens
e Qsflusiieme

4. Why did Na_na Sahib develop a grudge against the British?

@)

(B)

. No Successor

.- Not a good administrator

' -(C)«His pension rejected

@)
(E)

Traitor

Answer not known:

mrent sTGaL < mdlCouTsEndE erdlyms wer Geumiienu mwﬁ(&’,@i Qesrrﬁﬁzm_gj eJen?

@) - @&ma@mm
B ag)gg,@mnamm
E) el
D) @@gng = =
(E)I'_ @gmggg,rﬂmsn@m'
PTGS/2021 = =
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T

_ More persons are working, What is actually requlred on land due to population is

called e
(A)/Dzsgmsed unemployment _- (B) Unemployment .

_'(C) ‘Under employment (D) Over employment

(E) AhsWer net known

OGRS TENS. HTTERTLONS ‘ﬂeng;éﬂm o _awrenioudled Gg,emeuuu@memg, oL @q;ﬂasmrren‘r ‘l'_r)urraaen.

- Geuenev Weglpmirsar. g DGLD.
A) wvepews Ceumauderanio ' " (B) Gaimauiaiemn
'(C) - @op Caumauleaemn _. D) Hep Couamarufenanio

(E) eflenL Gsflweferana

MUDRA provide loans i;o -

-~ (A)  Corporate Busmess = (B) Multinational Companies
'(C) Small farmers ot : (M/Iicro-enter_prises

(E) Answer not known

@& S Sdlew b sLensear @ugumgj
A Qum mmﬂs fneuembser (B) wemenm () Blyjeuenhisar

© Ay efesmiser o D) piein Ozmfles Hpeueniisar
F) oo Gsflusiome e =

Why the ‘Rainbow revolution’ is so called?

(A) A_gficultural revolution

(B)J Revolution in Agriculturazl_.a'nd I_ndu's_trial oﬁtput
(C)  IT revolution ; :

(D) Industrial revolutlon

(E) Answer not known
‘eumenelley L&)’ ereer éjﬁiﬂ .gmmgpésﬂ@mmb

(A (B@J@Trrsm L&

(B CEE;uaTrramT wHmid Omn gmug,g%]uﬁ]su Lml_é]

©) ssud Qgmfd L yyls

D) GsmPpurcd
(B) oo Qpflweddena

5 = PTGS/2021
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8. Match the following :

(a) VAT i
(b) GST 2.
(e) Sales Tax | e
(d) CGST 4.

(e) IGST i 5.

@ W o0

w1 2 - 4 5
Bv’3s 2 1 5.
Wy e
a2 e 0 5.
(E) Answer not known '
Slemalmueiaraihen Hummssis
(a) VAT s e
(b) GST g
(©) elpueen aur - '_3.
@ CGsST &
(& IGST | 5. -

[ ) . D

(A) 1 e 5]
) g9 5
TaTr s TS L
dn 2 1 5 5

(E) sl Qsfwieddene

- PTGS/2021

Multipoint tax with cascading effect

One point tax without _caecading effect

Multipoint tax without cascading effect

Collected by the Central Government for Interstate .
sale '

C_ollected by the Central GoVernmer_it on an

intra-State sale

(e)

B O ke W

Silgggar efleperajarer Lisdapenar auflum@n

a‘@ggm a%mmeﬁ]@snfrg; (5 (paer euflumELd

aqggef aﬂmmeﬁls’oeurrg, us'u@émm auflum@id

LDrr‘I‘_F)]GL) SATESEHES @enL_Cuwiwimen aﬁlmum@nuﬁ}m Log,ﬁlu
SITFTE GG SSILIHEUSTEGD

wiflesdnEarCer peL QupEp aflpuamenider wEEL
DITETED U@ SSIL(HEUSTELD

OF
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T

Match List I (Article) with List II (Powers of President of India) and choose the
correct answer using the options given below : ' S

- List T -List II
: (é) Art. 53 ' 1. National emergency
(b) - Art. 352 ' 2. Appointment of Prime Minister _
“{c) Art.76 - ' 3 Executive power of the Union vested with the
President _ i :
d Art.' 75 4. Appointment of Attorney General of India

w6 O @

@) 1 3 1 2
BV 3 1 4 2
© 3 4. o3 1
D) 4 pEc = 1

(E) Answer not known |

(gémr@]ué) upBlw) L igwe I gy uiquied IT 2.1 6 Ui :

L iguied I u g uied IT
(@)  &94 53 ' 1. Csflu sieusr Hlave
; (b) 6llg 352 £ @ysiof Hlulnend _
© <8876 3 opfu srdlar @pSurelen fiaurs Sflsmmd

G\ ULTEHS S@@EULLD 2 6TeTg) -

(d) &l 75 4. @ndu geneanio sugpiﬁé@cﬁ)u@fr Blwioemd

o OB

(A 1 3 4 — 2
B 3 1 4 a3
w7 o 1

4 3 1

(D)
(E) eolen Osflweilcoveme

S = . PTGS/2021
' [Turn over

'https://www.-freshersnow_. com/prev_idus-yea_r-q u_estion.-paper_s/



' 10.  Which part of the Indian Constitution envisages a three tier System of Panchayats ?

{A)/Pd]l‘t kS . | ' B) PartX
- =Park X - = (D) Part XII

(E)  Answer not known

@g@lu SIrElLied &n&emg,(é,]em mgg)u UGS (gasu@ ;f,]soso L@hEMUISS] DIenLOLILIEHET ‘If)]QIG}.J auifl

uEsSamg?
@A) ugd-IX @ - - _' - ® ued-X

© uep-x1 D) ued - XII
(E) oo Osfueiome e

11._ Consider the following statements rel.ating to the Union Council of Ministers :
I. Artlcle 74 of the Indlan Constltutlon deals with the Council of Mlmsters

1k It does not have the collectlve Respon81b111ty
Of these : .

: (A)/I is true

II is true :
(C) I and II are true
(D) 1andII are false
(E)  Answer not known

. LD‘éS,éJu_I @@m&g’mm ngm_-r'ru & ﬁ]sﬁeu.@fo &ﬁ)gj.ésasﬂeom %UITU._IEE :
- @pdw &Unﬂu_lmeomuq @9@ 74@1@1 cgism!_o&&i;rammmm aﬁlma;@éig)@
II. é@ Fa.l_(Hil G]urrguusmu Gumgﬁ\@&aaﬁ}e‘omm
G | : 5
@) 1wl @bsfurens
- (B)  II nl@b sfureas
(C). Iwbpmw Il efwners
(D) \ I.LD@QJ_L'D II gmmnmg
(E)  oflen Qg Miielerene

11
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12.

: fﬁlsﬁm@ﬁ) aunrsSlunisafle __42.@@1 @B élUé]ugeueb_m_lﬁiu (555586 Qu.rr@r_'ﬁg;rrg sapbm -

Among of the following statements identify which is n'of; related with the 42nd
Amendment of the Indian Constitution? ' : =

(A)  The word ‘Secular’ added to the Preamble

(B) The state protects all religions equally
(IC.) It lays emphasis on secular and socialist aspects’
D It made changes in the last paragraiah of the Preamble

(E) Answer not known

m@?
(A) ‘Fow iU érrairfg) BUITTSEnG TS LIeELOLIL apalijenruiles CamssiLl L g|

(B) - LurETRAISD SIO@TIHS| FLOWLBISEETILLD FLOLOTE UNGISTESSS]

() e emiupp. wHpmd  Camaflwells ey  AUMTHMSHEEEES (P& WSZHeD

13.

'ﬁ_

QsrP&siuLgl

D) Sa g%\@;_isg,rﬁjassh (g)‘-a;ﬂqsml;ruﬂab' smL& LGSl e q@u@@gu LI L g

E) &lo dsfueiaame

The custom of female infanticide was very much prevalent among the

&) Jats

< (B); Mara_thas
(C/ Rajputs

(D) Konds

(E) Answer not k_riow-n

Queir HasQsTema cupssd —— . & Slulled iSlEns G mhsar.

. (A) grn"_sséﬁ
(B) wyrsHuiser

(C.)' @Qrrusdlriser
D)  Garen(n

(E) oflen @g;aﬂuéﬁ]sbmm i

9 - | : PTGS/2021
[Turn over
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14. _Who wrote Ain-i-Akbari?

(A)  Akbar
(B) Alberuni
(Cwbul Fazl
iy Todarmal.

(E) Answer not known

“udlenr-@- sl erem Brepe er(pSlwiaul wimi?
A)  =sur | |
B)  swuemenl
(C) aqéourr&efn.
D) Gg;rr:_r'rLorrGi)
: _(E) eﬁ}szm_ Qg flweleene

15.  Which one of the following was '.as an important port. of the eastern coast during the
Gupta period? '
(&) Broach
(B) _Japara
.(C)/Tamr.alipti
(D) Kalyan

E) Anéwer not known

 Blisi sTesSd 816G a;L@m'guaeb o 6raT (&SI FI@DPELD u_u@?
@ Gy - '
B)  gmgr

©  smardod
D) séowren

(E) ofen Qsflwshiovensy =

1t

- PTGS/2021 ' B
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1

Which among the following is known to be prime effect of thermal pollution on

aquatic systems?

(A
(B)
©)
)

®).

@

B)
(©)

D
E)

#decrease in dissolved oxygen"
increase in toxins '
makes unﬁt for use
increases evaporatlon rate

Answer not known

 Briflenevé @%@6&6\) Qeutiuions qmu@g@m urr,éﬂl_lqasaﬂsu @gmmmmnmgrras a;ﬁ]muu@m@?

~ Biflé @g;,asa&geoﬂsm |6 @Gmg)g,su

ﬁfﬂaﬂ pés 2B GH0 _
LBweTUT (ES -EbESHDSTS mwww
<peflurgaa sfsuudsssL :
aflevL GgMlweladena 5 .

Act1v1t1es taken to ensure that the needs of Vlct1ms are met and suffermg is

m1n1mlsed

(A)\Almergency response activities

®
©

D)

(E)

Response and recovery activities
Preparedness activities -
- Disaster management

Answer not known

urdssliul L alfsefler GCoameausdr wHMHILD q@un@am.gﬁgﬁ @&uﬁmhu@mmgqm'@dﬁgr&&d‘r

G@pssLUfamsLb 2 nfldsiu aGssiuGe [BL_GUIg HEHESET

oy

o
(©)
D)
(E)

DS BTV LGS BL6lIq S@SEHET
ugf,leh WHmID BUL) L6l SmEEaT
D WISS lr_r).l_sum_éssmaa&ﬁéﬂ

GulLit Coereaento

eSlenL Qgilwelerenad

&k e PTGS/2021
: [Turn over
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- '18.  Which of the following statements is _incofrect with respect to Alluvial Soil?

A)

Frequently inundated by floods during the rainy season

. (B)Aow hitrogen and varying percentage of calcium carbonate

©
™

(E)

The colour of the alluvial soils varies from light grey to dark grey
Rich in humus phosphoric acid, lime and organic matter

Answer not known

GUERTL_6 LDEwTEn 60T (ol THISSEUENT I_(‘HGEJT.@_I@-L‘D 6THS Snmm geug) Teug)?

(A)

(B)

©

g

- (B)

PTGS/2021

@WSE STenisal Sy dsig Ceudrerssme ppLh@Ld

.@Gﬁ)ﬂ)‘ﬂjg Gmg)l;'qgeirr WHMILD asrrsbéhL_nh grLGe_iger ommi’ L &g,eﬁng_

wewranilen Bimb Ceueflit #mbLie @og,@b.éu_r'r EMDLIED QUG IMILIHID

wldw, urdvCurié oi8levd, FERTERTTDL] mﬁj@m_ﬁlﬂmu @urr@Léési‘r Hevpbsme -

eflenL GsMwedceane

12
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19,

20..

i}

Which of the following is the First Smart Tribal Village in Jammu & K_ashmir?

(A) Srinagar

'(B)' ~ Baramula

- (W Habbi

(D) Rajauri

(E) Answer not k.nown o=

GTg7?

(A) Egﬁma;r‘r -
(B_). | ul;rrr@p_@‘jrr
© apud
D) Ug@'ﬁfﬂ

- (BE) e QsMlwieierene

World’é highest Active Volcano is found in

(A)- Japan

(B) Italy
(C)«_EéuadOr
(D) Kehyall :

(E) Answer not known

&waﬁlaﬂ W& 2 wirhg dewou@ib aflome asrramﬁu@t.b BI6H

(A) : gﬁunaﬁ

B)  @ssned

8 et

& G

® A gfueddma

13

| https://wWw.freshersnow.com/previous’-year-'qu_estidh-papers/

ggm@:p O Sraglbiler wpHe @gn@éo@u'.u (_S'mﬁrt) LILDBIESlg _aﬂi;rrrLDLbEQa;rrsﬁnTuém@Juﬁ.lsb'
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7 Consuier the followmg statements :
1. Vanod Kumal Shukla was the recipient of the first Mathrubhumi book of the

year award
i Heisa Malayalam poet and novelist
3. He translated the book “Blue is like Blue”
' _.4. - He won Sahitya Akademi Award in 1999

From the above which are correct?

(A) 1,2 and 3are co.rrect :

(BW1, 3 and 4 are cbrrect
L ) 2.3 and 4 are correct

(D) 1, 2 and 4 are correct

(E) Answer not known

 Géreumid saHmsear S(HSSD Qamers. _
: clGarmg @u)rrrr &&HGUIT LDrrg,@ L) @J@l_ é]g);ryg WEF Y aﬁ]@csmgs (P Sen (5055@5]61) @umg)eurr _
%@JITFF

2. SIGUIT (I LOGEOWITET asa%mg;u_rrrsrrrr LD[DQJLD rrr)rrsusurré-}r‘i]u_m
3. pabpowrs Q@sdng e Hree Cwrifl Guuiigse
4. | Gleuir 1999-@eb sn1dlGiw sism 1Ol eflmens Gurj)peufr. :
GG a;a&mLéuﬁ)@& & quremm@J Gr;smsu?

Ay 1 Duse e

® L Sepude

©) 2, 3 wppib 4 sf
D) 1.2 auihen

(E) eflenL Asflwieiidene

m

PTGS/2021. ' i 14
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22.

23.

14

The _prdcesées by which organisms keep their internal conditions relatively stable is

called

(A) ' Metabolism

(B)/Homeost'asis

- (C) Hypostasis

(D) Epistasis
(E)  Answer not known

5 aﬁ]euréf@asaﬂeh gai‘rﬁleméumu.t Fyns eeusdmLLSHES
(A) @LDLL_Wuneﬁ]&Lb : |
(B)  afiGur svLmgadicy

(C) : m@)ﬁj@uﬁ@m_mq_eﬂ@b
D) eGelmealoy
(E) e Qs m_éﬁ]ebmeo

What is the fibrous sac covering in the heart?

(A) Myocardium
(B) Endocardium

: (CVPericardium

(D) Auriculo cardium

(E) Answer not known

Eswusans FHOIL|6TET @émlc;gu_;rsmg) T8 ?

(A @CUTSTTg WD

B) GraTCL TS MTig With
(©) Quissriguib

i siscanninis
(E) . &flen Clsmweierenay

b

eTeD) SHMPESLILIGE DS

- PTGS/2021
[Turn over
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24. ' The Snow on the mou’nf:ains. does not melt all at once when it is heated by the sun
~° because ' - % :

(A) . itn-h_a_s a low spécific heat capacity

(BMt has high latent heat of fusion-
- (C) it becomes very hard

(D) it reflects most of ‘the. heét ffom the sun

(E) Answer not know_n

@ Mwiefler @@Juugggne‘o Lnsmsuaaaﬂeu umrpj@@a;@m Liefl @Gr,r (Sgarjgg]su 2 _(HSTLOE) @@uugmasrrm
asrrrjewrm . “
(A) é@éﬁ GeomeuTar Qeuliu eghy Smesr

(B) . SIEET SIS SLOmET 2 (HSedl 6 wanm QauliLib

(C) SiGl ufﬂaaeﬁd:w aqu_éﬂLowa;'@@ﬂug)WGb ;

D) <z @ﬁ]w@ﬁﬂ@ﬁ]@(@@] (LD quuug,eamg, 2185 SlaTey @Ug,] uc&uug,rreu

(E) oo Gg,rﬂwaﬁ]evmeu :

. 35, -Hthe earth rotates 17 times fastel than its normal speed then the earth will make
one rotation 1n

(A) One day;‘24 hours
(B). 530 hours
(CVl : 412 hours
(D)  3:563 hours

(E) Answer not known

-yl sHGung a;gpgyeusmg; aﬁh_ 1é LOL_BI(E aﬁlsmjmrras &) @J@Gmesu_fﬂcu LBl e &@m@uﬂlmaﬂ
Cligs s CaetiL =
A em rr5rr@11/24 LD @wf ] Gg)r;rua
(B)  5:30 weefl Gpyid -
(C) - 1: 412 wefl Cpyid
(D) ' 3:563 waefl Gppid
(E) oo Qsilucidme

"
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26.

27.

i

(©)

_.(A).l. sh _(Bv/i

24 e 27

ol bo
@.
|

(E) Answer not known

S —i% -;— iz l8 .grsisr;p Qgrn_fr@_rrﬂem&uﬁidﬂ 21055 &QJIQJQ
1 o
A - B —
@) 24 ® i
e 1
© 2 @

(E) eallan Glgrﬂmaﬁllsbsmo ‘

Wind the sumiof 152 + 182+ 177 4 ...+ 28

(A) ' 9966

B) 9696
) 6969

(D)/ 6699

(E) Answer not known

15% +16% +17° + ..... + 28" Wdr s (Hpe HTas.
(&) 9966

- (B) 9696
(C) 6969

(D) 6699

(E) e Qsfusideme

17

001;—-

PTGS/2021
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~ 28. How many days are there in x weeks x_da_ys?
Sy - . . @ sx
© 14z : A

(E)  Answer not khown -
X eUTHD X BIL&6TIe eTHHaman ;r)rft_asdT > dremean?
@ e T
(€) 1l4x e My
(E) e Gsflweieency '

29, Two dlce are rolled together ﬁnd the probablhty of gettmg a doublet (or) sum of face
: as 47 :

=
_ (B’/

(©

Wl Ol Ol O]

(E) ~ Answer not known

- Gren® usmLET &@m P RG] &@LL]JLJ@@GM;DGM @p& GTEMTSHET FLOLDMS @@a;a;
SO (PS GT'G(SDT:‘JSG‘&ﬂGbT FHze 4 el 58 (r_F;]aaggg)asm mr@? : :

@)
®)
(©

D)

Ol Ol Wl O]

® oL Osfuciome

g

PTGS/2021 e
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. 3l

A and B togethe.r can do a piece of work in 16 days and A alone can do it in 48 days.
How long will B take to complete the work? '- '

B days

(B) . 12 days
(C) 18 days

_ (DV24 days

(E)  Answer not known

A m‘ri)@]ﬁ) B = dlu @meumd Qeoabg) .@@. Cauaew 16 prisefled wpiyluir. A saflGu

- IBS Gsucmeocmu.l 48 EnLa;aﬂen (gJch_u_m' erafiled, B gailGui sips Coumaens arsgamen prsafledr

@Lq_l_ll_lﬁ'ﬁ'9

_ (A) 6 prser
B 12pmser
-~ (©  18pmiser

(D). 24 prl_sar

(E) dfleo Ggflwailorensy

’

 The area of a square and a rectangle are equal. If the side of a square 1s 40 cm and '

- the breadth of the rectangle is 25 cm, then the length of the rectangle 18

s

(A) 58cm
(B) 60cm
(.(V 64 cm
(D) 68cm

(B _A_I_lswer not known

e;,_)fr FEITLD :.Dg)gul.n Q@ @&m@u&gém LIFLILIGET FLoL. ngg,ﬁw u&sD 40 @& 8, Gl&eusua;g,ﬁm
sz 25 Q. LS Greaﬂa.) Qeeuaisdlern beard

(&) 58Gs.8
(B) 60 G5
(©) 64Q@si5
D) 68Ge.5

| (E) e QsMwefereme

.19 i . PTGS/2021
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'32. In how much time will a sum of Rs. 1,600 amount to Rs. 1,852.20 at 5% per annum
compound interest? - -

a 1 yeér :
(B) 2 years .
(CVS years
(D) 4years

(E) Answer not known

5. 1,600 opens) 5% e gar B euly 6S5id Qsram( ahsman e . 1~,852.20
- ED? o '
@) 1e(
B) 2 yem@sar
T e
D) 4 scn@se
(E) lent_ Qs fweleema

33, Principal = Rs. 4,000, r = 5% p.a, n=2 years, interest compounded annually

(A) Rs.320
BN Rs. 410
(C) Rs.280
D) Rs. 4_5_0-

(E) - Answer not known

2156 = . 4,000, yam® ey oigb r = 5%, n=2 S, ETHEET, YETHECSET (PD QUL Iq .

sansALLLESDS 5
@) e 320

(B) . 410

(©)  em. 280

D) @ 450

E) e Qsfucldema

L}
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34. .

- 35.

5.

A heater uses 3 units of electricity in 40 minutes. How many units does it consume in

2 hours?
(A) 4 units
‘(B 8units
(W9 units
(D) .7units.
(E) Answer not known

@@ G&CLOpd sreand 40 Bl sde 3 %@ﬂgaam L{Slmgrrqgmg g;snn‘ram’r’m:;r &GLDD m’@g@ja&

@
®
e

(E)

. Qarewr_med @l;rmr@ wenll CrrsHnE, FTESSEET Q,saﬂl_ WlemremySemg asr@;_r@a; QaeTiEnn? -

- uc__JDGtiﬂ[_qsa'r

8 wyafl aer

9 el ser

7 wefl ser
aflent Qs Mwieilerena

If.A:B=6:12,B:C=9.:27,ﬁndtheratioofA:B:C?

A)

©)
(D)
(E)

[C:N)
- (B)

©)

D)
®)

20611
(]39/1:2:6
1618

t\'.ir-ll—ﬂt\'i

S

2:1:6

Answer not known

-A'.:B_z__ﬁ:-l'Z, B:C=9:27 aafiéd A-:B:C—s&r@ﬁ@ggmgé;a;naha;. %

1
: 6
2

e T R

1 B
ellem_ Gg,rﬂu.iéﬁlsbmsu

e . PTGS/2021
~ [Turn over
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36.

If one third of a tank holds 45 litfes_of Water, then find the quantity of water that

- half of the tank hold is
A 901
-B) 2251
(C)/ 67.51
(D) 301
(E)  Answer not known
e QAzmiguie apendle) g LksTE 45 LT g,as‘méa'fr’r o ereng) crafle) SOST g Ul (Pp(pS .
Qamerererefle un’(é,] TEUBIGTEY? 2 '
&) 908
B) 2256
(0 6754
D) 30 _
(E) efar Qsflwsilevens
C8y : Find GCD of 2x* — 18 and x® — 2x - 3.
@ (x+8) - @B¥(x-3)
© f+1) e O (x-1)
(E) " Answer not known
2x? - 18 wpyb x* — 2x — 3 @aﬂ 8. Quim.au. SmenTs.
@ (x+3) Gy e el )
@ -y ® (x-1)
G e
PTGS/2021 - e g =
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38.

i

KR

(i)

i)

-

©)

D)

(E)

a

(). - '

. _. o :

@A)

B)

(©)
-

(E)

https://Www.freSh‘ersndw.corh/previous-year-questidn-pépers/

- Which of the means adopted under self-respect movement

Violent protests against upper classes e

_Undermine position of Brahmin 'pr_iests'by formalizing We_d_ding’s- without them

Boycott of temples_ and places of Brahmin residence

AN () and (i)

Only (1)
Only (ii)

All the abové.

‘Answer not known

W iy Teng @QUIESHLD ﬁ@&&@&mum@@ﬁmﬁmg Elshu’@ﬁﬁ] Wigl?.

Casl (B wésmer eTélTés euempamDuITeT GLITTTL L BI&ET

et cgqr'rér&ésr‘ra;mﬂa&r;ﬁ]' S(BLOETRIGEET HLSS iU TS EH®L LI ﬁ]sm_wémm @@g}g’ﬁg@

G’ésrrgﬁ!ebasm HmID WgTweaTEer cuf&Eh @)L kis@mer qu&;a;mﬂgg,c{u

@) mmu; (iii)
65 i
(iii) e @b

(Smg')aﬁa'th; SIDRTGEID

 flen QsMwelerena

s . PTGS/2021
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39. memorial girl child protectlon scheme is being 1mp1emented by the '
Government of Tamil Nadu.
(A) Dr. Muthulakshmi -Reddy memorial
(B) Rani Meyyammai ,membrial
(C)JSivagami Ammaiyér memorial
(D) Ramamirtham Ammaiyar memorial
. (E) Answer not known
Blevamays CuedT GRB®@SSE  LTHSTULS . .‘é‘;]l'_'l_l.b SOPE  DITEFTED
4TSS L F). % ' 4 |
(A) Dr. gémersif Griy Hearoy
I(B) i;r'rramﬂ Quinwibeno Hlevera
(C) Seusmb sibeww rn‘r-fﬁlmemm
. D) - ymomblisb S Bl
(E) efev Gg,fﬂu_laﬁ'!_sbma} :
40. Choose the correct district which is rich in Iron Ores in Tamil Nadu?
 (A) Ariyalur | ' |
“(B) Madurai
(C)/Saleni
(D) Kallakurichi
: (E) ~Answer nof known. .
SLOPHIL 15 6 @@qu:s.gr@é;aseh <idsd Bapbs sfurer wra L smss CsibasHE&sa]D.
A oflwugni . '
(B) wsor
(©  Geard
D) sdaesEHES
(E)  oflen. Qpuiclidrena
| PTGS/2021 " | S _ |

o
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4].

1

«The sahedulc,d castes Fmance and Duvelopment LOI‘pOI‘atIOI‘lS (N SFDC) Work for the

developmunt of scheduled caste families.

(A)

@
-

(©)

)

Political | =B S5l

Education - : (Mconomic

Answer not known

uliquer srduflent B wHmib Gubur ( flneuan, L.I.LiLq_U_IE:i_J grélul e @@Lburéja;aﬂeﬁf

: (BLoLbum'_Lorg')Qassm@u_rréJ@i};b@,
<yl ' L - (B) FDS
Fovedl _ | ; ' = (D) @uﬁ@eﬁrrgm_f

elllenL GsMweildana

Providing nutrition to Poor Mothers of Infants’ scheme 18

(AY/DI‘ Muthulaxmi Magapel u Thittam

(B)
(©)

O
E

Moovalur Ramamirtham Magaperu Thlttam

_An}ugam Ammalyar Magaperu Thittam

Annai Sathiya Magaperu Thittam

_Answer not known

S(HOYDD GENLD SMUILDITTH (G E el L 2 awe] LD@QJLD 2 gell g‘;ll_l_ua

@)
®)

©
D)

(B

CLmEL, @g,g;j@@);a;@ ma;u(ougu 2 sefllg S L:b ;

@m@n_ﬁ@wm@ngm wsUCUD 2 g6ls Sl L b

SigpEHID SibewwnT wsluGumn 2 seils S L ib

| GOTER 6T &g’;uﬁ wasUGLY 2 geild Sl b

eflent. Cgflueldena

25 _ PTGS/2021
[Turn over
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43, Match the following :

(a) -

(b_)
(c)

(d)

(@
(A%
B) 4

Social Reform

Abolition of Sati~
Temple Entry for Dalits |
Wid_ﬁw Remarriage Act
_Se]_f respect movement

against untouchability

. B e

-4 i
( -
(TR SR 2
D) 3 2 4 1
.(E) Answer not known.
QLT mssis

. Fops TSl (HESSID

- (a) &L._.GbTaS!'_mL e @ity

(b)

()

@

5605 &5 EHEsTaN pauwl 19rGeausid

clganeu LOMIERT &1L LD

awTL_menos 0 sl rresr &UJLD[SHUJFTGB; UESD

@ B © @

i 4 '_1' 3
- (B '4___ 3 2 £
€ 1 '3 e 8
D) 3 2 - 1
B) oL Gsfuddmn.
. PTGS/2021 = 26

P e 0

- Reformers
~ Ishwarchandra Vidyasagar

‘Thanthai Periyar

Raja Ram Mohan Roy

Ambedkar

§r’r§l@§,§@.l.rrﬁaa_ﬁ e
FFGﬁIJGLI r'r&ﬁﬁl;r elG TS
g(ﬂfysﬁlg Quiflwir |
JTEQMITD Guﬁrrasein Umﬁ

&u'zGug,&fr.

: https://www.fr_eshersn-ow.com/preVi_oUs-year-'qu'estion-papers/-
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44

45.

Bloe

The first Conference of the Justice Party was held at

(Awmmb atore

- (B) Salem

(C)  Trichy
(D) Madurai

- (E) Answer not known

54 s e (PS LB ;Bsml;Quﬁ)g)_@LLb

(A)  Gamubuggn

B) Csawd
(© Soif
) gy

(E) o9eni @g,ﬁ] weféene

- ‘Ayothi Dasa.’. founded

A Satyashodhak Samaj

(B) Samarasa Veda Sanmarga Sangam

: (C)%f&dvaldananda Sabha

(D) Ayyavazhi

- AR ._ Answer not known

26w rf{ej,fé,]g,n&grreb Ggw@gaﬂ&aﬁuu LLg) eTgy)?

- (A . sSWCETSE FLoTE |

(B) - swrs Goug seniomiés srish
©) agmmg,rrm{r_sg FUT

(D) a@mn@@ '

(B) e&fleor Qsfwederene

5
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46.. ~ Which of the follo-Wing statements on Vénchinath-an are correct? .

@ He belonged to T‘révaﬁcore-state of that tin;le.
(11) | He was employed as a fﬁrést guard at Punalur -
(i1)) He \.Nas one of the members Qf Bharata M.at.a Asls_ociation
(iv) He was trained in the use -of Revolver by Subramania Siva at Pondicherry
(Aj (i), iii) and (iv) are correct
(B)\/(i), (ii) and (iii) are correct

ey @), (i), () .and () nwecorrect
O 6. (idand 69 are correct

(£) Answer not kndwn

QuTEhS BB e ug')rnﬁ‘lu_lﬁleiﬂm@@ &Qgéﬁaﬂeﬁ) &ﬂuqrrstrrsurj?smgj Carps(ss.
.(i) S|GUIT aLii(Sunsmg,m Q@_éﬁ]gwr&aﬁﬁ &mmgﬁmgmg;é @&Ir'ﬂj)g;caur'r
"(11) é{_@u'r'r L;Gtr@mﬂéb cueLITgISTILITaTy e Lenflwmhblan
(1i1) LITS WTST FThIGHS 6 g@u Slemr'r .
(iv) u.nmgé:.ﬁgrﬂ e F1 el Heumeure sliLnés &@.Lb' LuSH & Qupmeuit
@ ), i) wpmid Gv) of g
| B) (i), (i1) HmID (iiij &l
- (©) @), W), (i) m@@@.(iv) &l
D) (05 O b bno

(B  fa Agfueidme

PTGSI2021 = : 28
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47.

48.

1

- The meaning of the chapter not Cox}e‘ting?

(A) Not'feeling shy

(B)  Not belittling others _

(C) Not begging from others
(—DVNOt desiring others things

(E) Answer not known

‘Geuamew’ erem fams semaLider Qurmer

A Qaul’ sib Qarerarmenin

(B) _é}ma)r,r.@a;ggwsem

(C). ﬁlg}rﬂ.z_lb @rha emggrrsme

| D)  Gor QurmarGoe =yame GararaTTanio
(E) el Qefweleraney

‘Sire greatest boon on son confers

.. to fill the highest seat’

- What is the debt of a father to his son accordmg to this Thlrukkural‘?

(A) To amass wealth _
(B)' To make hima bravest person .
(C Precedence in the assembly of the learned

(D)  To give charity

(E) Answer not known

shers LEHE PO BB - T@id HosEnaid spos w&enéseét Qe sLemEs

(G @61.@1

@A) Glurr@m Cagg) meug,g;eu

B) diyenns o meundEge

(C) sHpeur seLuled (_Lp(rf;{a‘,] ONOEES @eu‘.&gaé‘u

D). smend Qelige .

B el Qsfueiama

28 _ ' PTGS/2021
: [Turn over
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49,

50.

According to Census 2011 population density of Tamil Nadu is

(A)  550/sq.km - (BM¥555/sqkm
() . 560/sq.km - ' (D). 565/sq.km
(E) Answer not known :

Qe 2011 GénLig. S pm g6 idbsr Aprens SiLisH

(A 550/s818 =  (B) 555/s48
(©) 560/e.818 = .~ (D) 565/s.818

(E) : a?ﬂsm_ @g,rﬂmaﬁ]euma)

- Which book descrlbes the Marnage Manners of the Sankam Age People?

(A) Puranaanuru : ' B) Nattrmal :

' (CV Akanaanuru . = (D) Kurunthokai

(E) Answer not known
FRIGETE &SET 6o mﬁn@mmamm&s &M I_JS@L'D [{ITed %@?

(A)_ DB _ S ] B) pHflenent
©) ospram = D) eppEsr®s
(E) oo Qzfluefdene E ' ' :

51. The seals found in Mohenj:adaro was not made of
(A) Ivory - .
(B&/Conch _
(C) Faience
- (D) Steatite
(E) Answer not known
@mq&@&gw@.ﬁwaﬂ@.&@@;@é&&ﬁ LI L (PSS anTEET GTEemmed Qsiw L'Jl_u__aﬂsbaﬁ)su?
@) spsd
B) smp e
- (C) Asdly Geuamelium(® QauiuL_L oL Se0e
D) sgeuissTyD
(E) efenL Qafweildena -
PTGS/2021 | 30
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52.

- 93.

1t

The edltor of “The Hmdustan Reylew an English Monthly Magazme pubhshed by. :
the Indian Press in Allahabad

W Sachchldananda Sinha

(B) T.M. Nair |
© = Surendranath Banerjee
(D) . Hentry Vivian Derozio
(E) Answer not known -

é{&)&il’fUl‘[{&)@G&@[_ﬁ@ LbSlwic - LS]r,r@mcsmneu qu@ﬂsuggg) Gccmbrmaﬂen DTS ‘@g;%grrem @rr_r,g,]smg,rrem. :
Mefle”- aﬁ]m%élﬂmgrr&@@gbgmrr '

(A)  sEflgnenps AaGsr
B) .o, HrwT

- (C) - &Crpdlypng Limanied
(D) Gavénd efefdr GLCrrAGur
E) o Gsfusioma

Who favoured the permanent settlement but urged that the Government shOuld ﬁx'

\ the max1mum rent to be paid by each cultwator?

(A) Lord Cornwalhs '
y Raja Ram Mohan Roy

- (C)° Lord Munro :
(D) Dada Bhai Nauroji

(E) Answer not known

Hrssr  Hleoeufenw ci»bg;rﬂ,&,@m Hmit  gflered aﬁ]g‘lasa;uu@\m cg,q{e_ﬂa;uuqu_mem aifiepw
gpeulleurm(m gafl BUGE ssLi_(Eeum@@mm g dluig) Wi : .
(A) a;rrgemsumﬂra_m Sy

B) Qo gmbd Cémrra;s‘m;rrr_uh

(€) we&Crm@yy |

@)  snsmmi GpeGyre)

i aflent_ Qg flwelereme

31  PTGS/2021
: ' [Turn over

https: //www freshersnow com/prewous-year-questlon papers/



54. Assertion (A):  Justice Party demanded communal representation for

. non-Brahmins.

&

Reason (R) : Periyar came out of congress party since’ his demand for

communal representation rejected.

; W Both (A) and (R) are true and (Rj is the correct explanation of (A)

(B) Both (A) and (R) are trué but (R) 1'-3 not the correct explanation'.of (A)
) is true but (R) is false
(D) (A)is false but (R) 1s true
(E) Answer not known
gamm (A): Bol&s _Qg‘n@mq@@n@gn@é&n@m auy anfl GNSHSsgeusams
@Gueéﬁrqmgj, :
. srgewnrd (R) : Quflwrflenr CeusmBsener aIGULEITS @gggﬁg@@m ésrrréjé]r,rwrmb
- Brrefsasiiul L sryarsgned Guflumt LD NN e, |
(A)  (A) oomid (R) @ram(in s (R) eremugy (A)ganer sflwmer efleréson@hd
B (&) wpmid (R) @rem@ib ofl e (R) arenugy (A) ssrar sfiuner elarésinde
© (A ol pemed (R) geuny
@) Q) seuy syera (R) &
s (E) Gﬁ}ml_ QgMuwelérens
PTGS/2021 . 3 -

https://www.fresh'ersnow.com/previ'dus'-year-question-pape_rs/ :



o
g |

i}

Development Financial institutions are

£ el
2. ICICI
3 DB

4. UTI

Select the correct answer :

(A) 1and 2
(B) 3and4
| (C) 1and3

(DMI,.Q, 3and 4 -

(E) ~ Answer not known

auaniié e auflsm Gib B Fpciamisafien £1p aumeuar

el
e
L

4. UTI

_efwmer eNepL_apul @g;r’r(r_'r;@g@ésas s

A)  1opgb2
B 3upmna
©) 1wpmib3.

D) 1,23 0pmo4
(E) hﬁlm;@grﬂmaﬁ?@mw

g : PTGS/2021
' ' [Turn over
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56. To Reform Centre-State_-relétions, major recommendations are made _by

G
(i)
(111)
(iv)

Sarkaria commission
Punchhi commission

Rajamannar committee

~ Royal commission

Select the correct answers by using the code

(A)
B)
(©
(D)
(E)

&S W wHILD wrHle &'D@E@Gﬁ Erdl &5, (pSSlwmar uﬂf@gj@j&;s&m- @prrm_@um@.

0
: @)
(iii)
i)

@and &5
i), Gi) il G
6. 65 and G9)
(), (i) and (ijﬁ)'

Answer not known

: &'r’réﬁasrrrﬂ W G
Uehd B
r,rrrgmehmrfr‘r.@@

© JITLIED @@

@@uﬁ@&@mm o LGWTd g sMwmen sﬁl@i_emu_; Caiplls(hés

@

(1) ppd (i)
B G, (i) opgid (V)
(© @), i) wppib Gv)
© . ) wppo i)
(E) amm_.@g,;ﬂma@m._
PTGS/2021 - -
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. 8%

.58.

"

First Five year plaﬁ Model is

(A) ~ Mahalanobis Model
(B) Garibi Hato Model
(C) Nehruvian Model
(Dw-larrod Domar Model
(E) Answer not k.nown

@g)sb LhgTemh S b érﬁag, L wrdflerw eiq v wrs Carar_g)

A)

(B
(©)
. (D)

(E)

Q..Loassurr@(r_r)rr.c'ﬁ}du il
&M ep_ G wrdf
G@@@Eﬂ@h il
QJ_DHUHL—GLWLDH& omglil

eﬁémr;_@g,iﬂmaﬁ]@smu

Which of the following recommended the establishment of Lokpal?

(A/First Administrative Reform Commission

®
o

D)
(E)

Second Administrative Reform Commission
Veerappa Moily Committee -
Singhvi Committee

Answer not known

SipsanT_audmieT erg GeoméLime SieoLienLl urﬁ‘l;’r;gemgggg?

@
(B)

(®)

(D)
®

e Bieuns Sidmss <L emmuib
- @renr_meug) Blreuns grrg%]@gg, %@eﬁmmm
- alipiu Quomied g

Fmied Gl
@96{3‘)!.. Qgﬂ@éﬂ@mm

35 = PTGS/2021
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59.  The first District which established Panchayat Raj in Rajasthan was
(A)  Kota = (B) Jhalawar
(C) Madhopur . (D agaur
(E)  Answer not known ;

[ITEGIL & Tt 6v u@&nu_mgl ey ;B]cfp]raﬁlu_l (505_3560 DTEUL_L LD

Ay Gemom' ot (B) g@)rr@urrrr
©€) wésmyr e (D) mprseur
(E) &fenL Gsflwelilevanen

60. For gettmg recogmtwn as thlonal Party’ a party has to fulfill which of the foHowmg
criteria? =

(@)  Atleast 6% of votes in atleast 4 states

(11) In the loksabha elections, atleast 2% membcrs from atleast three states:
- elected to Loksabha : : :

 (iil) Recognition as a state party in atleast four states
(iv)  Atleast 8% votes in atleast three states

(AN Any one of the (1), (ii) and (iii) criteria 1s required
(B)  Any one of the (iii) and (iv) criteria is req.uired .
(C)  Any one of the (1), (ii1) and (iv) criteria is required
- (D) Any one of the (i), (11) and v) criteria is required
(E) Anbwer not known . ' : :

@ &8 ‘@g,aﬂlu BLE erenm SBESTISDS @ugp é%paaasm_ Grggg, amm@&n@u&mﬂmuq @@asa;
Gouant(ib? '

@) gCsaub 4 wrfleksals 6% arsgsamen B i |
() wasarwasstar Csisdlad 2% gglﬂlsmfraa@m ej@g;@m 3 mwﬁwrﬁ;&aﬂ@ﬂ,@ﬁ)gj |
' Gg;rrm@g,@a;&uul_mr@aﬁ Ceouam®d - :
(i) gCsaybd4 mrrﬁsvrmasmﬂsu LDrrﬁev &8 erenm @;ma“ianr;g,mg ngpgﬁ\@g,g,sn
(iv)  agGaab aperm wrlanisaen, 8% arsesmar QUDHIHSSD

@) @), (i) womio (i) Qeupdle gCs@ib Gemm eudluib
B) (i) whmb (1v) Qeupiled gCoaubd GeTmy dieudwib

© (i), (i) womod (v) Gendled gCsaib e etadlub
D) @), (1) wpyb (v) Qeunled gGseaitd @GUTQJ Sjeudlud
(E) efevi Gg;rﬂmeglmsma) _

1
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61,

62.

-

amended in which of the following cases"

(A)  Shankari Prasad Deo (Vs) Union of India
(B) Sajjan Singh (Vs) State of Rajasthan

Wy Raghuvii Singh (Vs) Union of India
| (D)/Mmerva Mills (V s) Union of lndla

(E) Answer not known

| The Supreme Court has stated that the basic features of the Constitution cannot be

SyFFlweennlngen qgmoruqem_ SIDERISET LTHD @maur@] aresm) 2 ssBSlanmid ;;%rrl_n_; émaﬂg,g@

g%peu@m TH Guggaaélemmq_’?

- (A) &masrﬂ Lﬁlrj&ng, i Gwir (Vs) @pdlw S8
(B).  #ssmen é]ru (Vs) FrERevSTen LDrrﬁsuLD .

© et it (Vo) @pdlu 2irs |
(D) Lﬂemr'reurr_ﬂebraiv (Vs) @péw aq&r'
(E) ol Qeflueideme

The first Article of the Constitution declares that India is

(A) -~ United States
(B)/Umon of States
(C) Federal states
(D) All are correct

(E) Answer not known

@g,é,]m cgq;rﬁu_leu &W&Gﬂgﬁm (PSD aﬂ@ Gndwurenel

(A) . :sdu mwﬂsormassrr Gremg)vaDa;é]eﬁrg)gﬁ

(B gamilu prflenigsern Grmg)smagasaﬂmm@

(©) sl 8 wrhlomser

D) &Gﬁ}éﬂgglb FiGu
E) oo Qsflueidema

37

- PTGS/2021

[Turn over

https://www. freshersnow com/prewous-year-questlon papers/



63. ‘Sufism’ originated and developed in
(A)  Christianity
(B) Hinduism.
(C)«Isllam -
; (D) Zoroasﬁ*ianism

(E) Answer not known

& =Govid — ssfmbe Cared iipEs
A). dblcvgeud o

® @ps

© - @éveomd |

D) QgyrevgAunaisn

B oL Gpfucdoos

- 64.  Nicolo Condi, who visited Vijayanagar was a

(A/Italiah traveller

(B) Persian traveller

(C). Portuguese traveller
' (D) " Chinese traveller

(E)  Answer not known

efgw BT Cﬁqu&és@ e Qeiis HECareon ey eramieli |
(A) @ggmﬂm Liwesot] . ;. | |
By . s

1) Gnipalsu e

) ok |

B) coL Gpfueddms

PTGS/2021 e 38
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65.

66.

1

Palaeolithic stone tool was 'disco_véf_ed first in India in 1863 by Whom?

B Le Mesurier

: (B/Rob ert Bruce

(C) Miles Burkitt
(D)- Subba Rao

(E) Answer not 'know_n

18631 <2peiT(H) W LIGnIpW SHamed smeilser (psedler @nHuimeda asairr@tﬁlq_éséuuf_i_‘gj.?

@) o Guaf

®  gru yme

- (€)  eweev LFAC

(D) SLILIT T

(E) aﬁ]mt_ Qs Mueiaene :

'Thé script of Indus valley people was,

A) - Brahmi script
B Vla't.telluthu ' :
(C)  Grantha script _'
(Dw’ictographic script

(E) Answer not known

ﬁ;’r;@ gGeuaf] ésafian Gr@g@ @pemg).

A  QomSerpss '

B  wOiwss

C) Sps awde

: (D) eﬂgg,h;r TDSS!

(E) aflenL_ @g,rﬂu'_iaﬂéqmeu

" | ~ PTGS/2021
s : ~ [Turn over

http_s://www.freshersnow.cbm/previous-.year-questic_)n-paper_s/ _



67. Match the following :

Peibe e State
.' (a) Banchharas 1 Bihar
(b) Koras _ 2.  Rajasthan
(c) Padhar 3. .Madyé Pradesh
.(d') Rabari ) Gujarat
@ ® O @
@y r 3 £ 7
@2 43 |
o o d 9
D) 3 1 2 4
I(E) Answer not known .
i &@ésanﬁ_euﬁmm@@urr@{&;@ﬁ:_
uphiegdeni i
(@) wugemya 1. Sar
(b). ~ Gsmyen g Bumggengrten .
Gomm . 3. wsBudEyCasy
@ guf = 4 egms '
@ O o B
. i § 4
B) 2 4 3 1
©) 3 =
By 5.
(B ool Osfiucidme

PTGS/2021 i e 40
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68. Match the following :

(a)
~ (b)
(©
(d)

@
(B)
)

Mountain

The Sivalik Range

The Great Himalaya (or)

Hlmadrl

The Eastern Highlands

(Purvachal) :

The Blue Mountain
.. 8
2

1 3 2
St 4
4 2 L3

(E) Answer not known

Eg@mﬁm_‘eug')smg) QuTpSEIs :
. eve
(@) SHamdsEem
(b) @uuwioeme (es)
ablomg
(c) é]%pé;@auﬁﬁrﬁmréjam'
 (uieurése)
(d) feo wewa
@l B
SRy 2 1 4
A 3 a
2 3 4
TR R
(E) e QsMcidame

mn

(d)

[ T - S &

d

R R S L

Height
Less than 1220 ineters
Average 6100 meters

' Higheét point 4578 meters

2157 meters

. o_IWUPLD

1220 & gepeuns
6100 8 syrefwns

4578 18 o wigioran’ LGS

2157 8

41 S PTGS/2021
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69. - Identify Tamilnadu government’s scheme to _encoilrage" widow remarriage and

rehabilitate widows

@
B
(C)
)
(E)

._.g)L&
G

- ®
(&)

D)
(E)

Sathiyavanimuthu Ninaivu Scheme
Dharmambal Ninaivu Scheme |

E V.R. Maniyammaiyar Ninaivu Scheme
Moovalur Ramamirtham Ammal Ninaivu Scheme

Answer not known :

1p& <irélen &gpa;sm; gc)h_l_g,ﬁm EpEILD aﬁlg,smeu Lognmemm  LDHYID
wu@gy@w T 1Y acmi_mrrmm Srams _
 spBuama il Pearays S
siombLnar Pevaals HiLb
IF. Gé_i I Lnamﬂu_lLbsmeu_lrrfr ﬂmmmg g‘,]l;l__Lb
-Q_LPGLI@IT (@r,rrrmuﬂrrg,m <S{LDLOTEIT ,@maﬂmg é;]L.LLD
eflen Gg,rﬂu_:eﬁlaasmu

'70. Factionalism is po"litics-is the demerits of

A4)

(D)
(E)

Party System

_(BVEléctoraI Competition
(©) '

Democracy -
Coalition Politics

Answer not known

'g{.l;reﬂ wedled flereyeumgid Grei:m_lgj @@ ﬁQGU(_FBI_-b Genmpu ”L—".@Lb

@A) sl pop
&) Gornn Gy
©  gopmuan
D) el iefl orflud
B) oo Qpfucidme
- PTGS/2021 s = e

=ht-tps://www.freshérsnow.com/pre_viQus"—year-q.uestion-paperS/

Lolgu@jmc_psmsu '

1



=l

72,

India’s major deposits of Lignite are located in

' _(A)'/Jharkhand |
(B Tamil Nadu

(C) . Andhra Pradesh

: By 'West Bengal

E) An_s_wér not known

@‘BQLUITQS]GD @15165 L;r@tlli_! Bleodsifl Ligeyser &'GiTGTT.LL;IT'IﬂGDLb

(A) RIS

®  s6pp6

(C) : <257 ArCged
(D) GLD,@@ GUMBIGLD

- (E)  ferr Qaflwederaney

: In the Natlonal New Educational Pohcy (2020), the 10 + 2 model is prOposed to be :

replaced as

() 5+4+34+3
B) 4+5+3+3

(09/5+3+3+4

3+3+5+4

i '(E) Answer_' not known -

11

-Bg Caasdler u‘é:,]u_i el G]a;rrsrrsma;uﬂ@) (2020), 10 + 2 GTGHTD <SIEGMLOLIL] —dm

u)rrg),r_r)uu]_ o _GTeng).

(A) 5+4+3+3'

(B 4504 8+3

(C) 5+3+3+4
ah - 353+5+4

(E)  efeni Qg;ﬂ@aﬂéumm

43 - PTGS/2021
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73. .Btiffer solutions are used to

o
®)
0

Decrease the pH value
Change the pH value

Increase the pH value

(D/Mamtam the pH value

(E)

Answer not known

STHIGE HEDTE THHSHTSE 'uuminu@&ﬂg)gﬂ? ;

A
®

©
(D)
(B

pH willienn @ennés

pH ofliou wrhpesne

pH mﬁusmu. _é{é]asrﬂeisas'

pH Lﬁglijmu DTDHTLOE) _soeuglagl@é;as.
Slene Osfueddvere

'74.  LASERS used for hair transplantation is

(A)/ CO; Laser

®)

- (©
D)
(E)

Grmorkis@ar WIHHeISHE LG Cagr

(A)
(B)
- (©)
D)
(E)

PTGS/2021

https://www.freshersnow.com/pre.vious-year-question-papefs/

~ Nd : YAG Laser

Ruby Laser
Diode Laser

Answer not known

CO2Caosm

' Nd : YAG Gasir

apll Geoaim
LG Cevarr

elllenL_ Qgrﬂu_lagébsmeo_

- 44
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75.

76.

< 4

the capacity to learn

@)

~ Pavlov
(BVJ ohn Dewey '
(€©) MK Gandhi =
(D) Swami Vivekananda -
.(E) Answer not known .

The person who stated that Human experiences past, present and future influence

meﬁﬂg SiQIUEISET &5, Hlapsran wHHD adisrwn sHne @meﬁ)aﬂu urgl&Smg) eremmy

B

FaHluieur?
@)  uraGer
e QU
(O ob.Cs ampd
D) seund eGeusmarpbsm

)

aflenL Gz flwelleenay

Scientific knowledge is imbibed through

@

(B)
(©)

Reasoning
Experimentation

Problem soiving ability

(DVReasoning and e.xperimentatitm

(E)

Answer not known

é);f)]@ﬁ]msv é{;ﬁ]m:ame@éaaljuz_ utué&fu@m@

@A)

B)

(©)

{0y
(E)

&T&s Slmer

uflGemgene Qmm '

H&s e ﬁfré;@m Sl e

g,r'réag whmb UNGsTEman Hper
ellenL_ Qs weldena .

45
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77.  If GIVE is coded as 5137 and BAT is coded as 924, how is GATE coded?

&) 5427
B) 5724
(O 5247
(D) 2547

(E) Answer not known

GIVE  ereviLigen @@uﬁ@ 5137 Log)gjm BAT GTGYTLIS T @gﬁ]Uﬁ@ 924 sahé> GATE eTeLUGeN

eMSe
@) 5427
® 5724
() 5247
(D) 2647

(E) dleni @;_sﬂuaﬁlcumeu

78. 8CM@N£T2Y6S aQ$7T*W#Z3UE% A4

If all the vowels are dropped from fhe above series, which of the foiloWing would be
‘the eighth element to the right of the thirteenth element from the left end?

(A 4
® 8
o %
o C

(E) Ahswer not known :

- SCM@N£T2Y68 aQ$7*W#ZSUE%A4

CuwCe 2 drar G]g,rrl_ﬁ]aﬂ@gbgj ST auﬂ]@u@g,gussa@mum ﬁaséhu Sér Hev_sas Sonlg WL

yHw Qgrife QL g @mmuﬁlaﬂ@@g o grer 13 c%@_l@ a_giur_{a;@ eua)gd qg)g;@a) Bm&@d 8
DEUS] 2 MILIHLI SHTEHE?

)y
B 8
€ %
Dy - C

(E) ofleni @(e_mﬂu.zaﬁls’i)emsu

1

PTGS/2021 e e
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79,

80.

m

A can do a piece of work in 10 days and B can do it in 15 days. How much does each :
of them get if they finish the work and earn Rs. 1,500? i

@
AR
(©)

_Rs_g 600, Rs. 900
Rs. 700, Rs. 800
Rs. 800, Rs. 700

W Rs. 900, Rs. 600

(E) .

Answer not known

A o (S.ejlmensmu_l 10 prsaflgyid, B 2ieng 15 prselgb Qalig '(y)Lq..L'_H_IF.{.- @ maumd Gerpgl

By

- ©
D)

(E)

- sauGaimamus Celig m. 1,500 g rlgama, sislsrasow aeaaurn Afsss Gsmeraum?
(A) '

e55. 600, . 900

@5. 700, 5. 800

. 800, ¢m. 700
. 900, 5. 600

_Gﬁlsm_ Gg,rﬂu.uaﬂ?sosmo

P and Qcan do a piece of work in 20 days and 30 days respectlvely They started the
work together and Q left after 5 days of work and P finished the remaining work in
5 days. After how many days from the start did Q leave'f’

(A) 6days
(B) 8days
(CV 9 days
(D) 10 days
(E)  Answer not known

P wpmib Q &G @@I_Geusmm.cmu_l_ wpepCu 20 whprd 30 Hrsefld (gmq__[_u_lr"r. Qeuﬁaseh

- Qmeumd geaprss Geibg Cormemws Gsm_mdarnm. fHo prisdar Caume Qeugdea Q
- gpaneut 5 prlsEnsE Gear Qeamn eHdprt Bsaparer Ceuamaaws P gyemeur 5 prisefle
 (py&dlort erafley an;m&luﬁle&@g@ assmen Bl sERsEGL Gar Q@ Caimamen @S]l_@&'

Qeampri?.

(A) 6 {I:F)ITI._EG-IT' )

(B) 8prisdr

€y 9 mnl;gm

(D) 10 prriser

.(E) o eﬁlsm_ @g,lﬂtueﬁlsosmo

Coah s e s PTGS/2021
: = [Turn over_'
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A boat having a length 3 m and breadth 2 m is ﬂoatmg on a lake. The boat sinks by

81.
1cm when a man gets on it. The mass of the man is
A) 12Kg '
BN 60 Kg
€ T72Kg
(D) 96Kg -
(E) Answer not known
giflufa uS];_;,a;@LD e uLdler Bemd 3 5 wHmId s 2 B. m Lasuﬂg)m cq‘é,]a) qgm (Bl_rrrg]
uLE 1 Qe.lb firﬂsu gﬂ@pg@ arafled, Sibs mszsﬂg,asﬂm GTEDL GTEIEOT?
@A) 12484
B 6044
(C©) 72484
D) 96484
(E) e&lerr Qsflwelerenco
82. The dlfference between compound interest and simple interest for 2 years at 6% is
Rs. 18. Find the prmmpal ' : '
(A)  Rs. 5,100
BN Bs. 5,000
(©)  Rs. 5,500
(D)  Rs. 5,200
(E) Answer not known
&L (B eulig&HEib, 5@1?1 aJqu.E@lD 6% QS'Q}LD @UGMTLITGEDT@&@ Gmg;;urr@ m. 18 erafléd
SIFDlnens SraTE :
@ 5,100
B) ¢ 5,000
©) ¢ 5500
(D) @ 5,200
B - o Osfusiome
PTGS/2021 -_ o &
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83

84.

ol

A principal becomes Rs 17 OOOX at the rate of 12% in 3 years. Flnd the pr1n01pa1

amount

(A)  Rs. 14,000

(B)\/ Rs. 12,500

: (C) Rs. 15, 200

@) Rs. 13,500

: (E) Answer not known

&( G]g)rmmasmrramgj 3 .qioem@aserﬂso 12% sefleul g esib . 17,000/-oy58 é]eml_gaﬂg)gﬂ GI'GGﬂGU

éi&ﬁﬁ)&)&i GSHGOTFT&]

(A . 14,000

B) . 12,500
(©) @ 15,200
(D) @ 13,500

(B e Gsfusibvae

- Ram dep051ted Rs 200 at the begmmg of every month in R-D and recelved Rs. 19 656 '

at the end of 6 years. I‘lnd the rate of S.1. paid by the bank

A _8.% e % (B) 10%

oo e B

- (B) Answer not known

 mb eTeLIGT wrsmonsD 5. 200 & aumElue Ggmit .GmGUI;IL.[‘S‘) Qgrrmss (R-D) @GDL'D BEAVEE

aupsTi. 6 eummL (pigeia ep. 19,656 » Qupmé CQaregrmi arepiled Gurma‘i} cgim@a;@ Slalss

sefleuig. aﬁg,g,emgas SBITEHTE.
@ 8% e (B 10%
© 12% .' T Ay

E) e Asfucidme

49 s - PTGS/2021
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85. If-x:y:1:3,then(Tx.+3y):(2x+y)'=9

i - . T

O B - . Q6:s

(E) - Answer not known
X A s 1 3, erafley (7x + Sy): (_2.‘)6 + =1

4 a5 - B 5:16
& ta | o 185

(B) e Gsfuclome

86, Find the LCM. of (x* - 27), (x-3), (x* - 9)

(Ax/(x 3) (x+3) (x +3x+9)

) (
®  (x-3) (¢+3)
© (x+38f(x- 3)
@ (ot 3)(35 + 3x + 9)

(E) _Answer_ not known

@ (x-8) (x+38) [x* + 3 + 9)
AR 3)2 (x + 3)
) (- 3)

© (+3) 8+ 9)

C) (x+3

B e Gsfusivma

PTGSIZOZI ; = : bl

htfp_s://Www.freshe_rsnow.com/previous-year-question-pap.ers/
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81

88.

g i

Find the HCF of %, %and -§—.'-is

25
e i : 2
(4) 2 : : ) —
c/ . -
( i (D)_ 25
(E) Answer not know_n :
: g, % LHOID % 71 18.Qur.au. U.JITQJ?I
(A 2 _ ' - (B) —
@) | ® =
9 .' : : i 6
C —— 0y
© 75 : _( ) 25
C®  efle Gsfueidme |

What percent of a day is 3 hours? :
(A/121% | | ' ®) 1629%

2 _ S0, 2

e el - 1
©C) 18—% : = D) 22—%

. _ Ak

(E) Answer nof known
e Brafled 3 weantl CrysdDenar sgeigid ereueiene,?
R  ® 182%
' 2 : L
(©) 185% Al 225%

) oL Asflusioeme

51 -
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89. The five new districts created in 2019 in Tamil Nadu

(A){I‘irupattur, Ranipet, kallakurichi, Chengalpet, Tenkasi "

B)

©)

Tiruvarur, Tenkasi, Ranipet, Kallakurichi, Chengalpet

Tiruvarur, Ranipet, Krishnagiri, Cheﬁgalpet, Tenkasi

(D) . Aﬁyalur, Ranipet, Tenkasi, Tirupattur, Chengalpet

®

Answer not known

. 2019—@'%@46&) SBILD BT ig6) 2 (HeursSLILIL L L_|§|LLI o LD!T@JLLJEJ&G?T

(A)_ @@uu‘&;@nff,'uw‘mﬂu@pﬁeﬁm, &m&ﬁ@@&@, G]laréja;.ebu:'_@\, Qgensns
| _. (B) ﬁ@@_lrr.@.r'r', @gfb;a%wé]', qrrémsﬂ u(‘éul._sm_ 'a;adeTe.t@Lf)]éé], @&r‘éj.asebglt'_ﬁi
(©) ‘é,]@su e, Fremnfl u(fu I;Gm.lf-, é,l@@spm&ﬂlﬂ @&réj.es.ebgi'_@, nga;rr#l
' (_.D)' __ érﬂmgm'n, r;_w'mﬂueu;@;, Qg,m—,r@,@@L‘.ug@ﬂﬁrgémaﬁuﬁ@ =
(E) = GQGIE)L_.@‘&)I‘HU_JG\.S]G'UGB)(;‘U
PTGS_}zozl o - o | 52
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- 90.

1

Assertion(d) 5 A S'_clate’s health status depends on effective and efficient

. health care infrastructure. - : i
Reason (R) 0 Tamil Nadu attracts medical tourism from around t_he.'

world.

(A) Both '.(A) and (R) is true and (R) is the correct explanation of (A)

(B)/Both (A) and.(R).are true but (R)' is not the correct explanation of (A)
@ (A stishut Qs
D) Ais lfalse but (R) 1s true

(E) Answ:er not known

o P& smpd (2) : @n wLrfeossar ssTHTY . Bever eremiig oigen LILIggI6TTeT,

S DT SIS ujrruarﬂﬁ;q S GTEL_L DLIGNLIE STiTThE)ETeTs).

STyewTLDd (&) _ : 2as&b ppeusiand Gmba) La@;gjeué &ﬁ)@]&)r_rcsmug {551.:51%'9;_5”@ '

 wisdng.

A (2).(sm)- @Uw®m al, @z@:SQJL_GﬁT.(a';ﬂ') GTETLIG) (&)—aﬁleﬁ shlwrer eflendsd -

(B) (=) (&) - @yawrpid &, @ggjl_eh (asn)—ﬁehu@ '(2);635]65'[ aflwmes efenésid XY

©  (2)-of, yammé (sm) soup

D) (o) pauy parma (sr) sl

(E) &fer Qsflueidme

53 = . PTGElhgt
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91 Who was the first woren M.L A in Madras Premdency (1926)?

(A)A)r Muthulaxmi

©

D)
()

Ramamu tham Ammaiyar
Dr. Subbulaxmi
D_i'._Annie Besant Ammaiyar

Answer not known

1926, Qaananen ramardS e (pged GLaT &L sl a__gjuiﬁlmﬁ wimr?

@

B)

L ©
O
(®)

| LML, 1pSEIeoL gl
@rmomdisio 'é;Lbemmﬁmr’r
L L. FliLjaL &6 .
L T&LIT. &m@ﬂ_@u&éﬂlﬁ_. -c";;meLoqur.fr

eflenL_ GgMwelldene

92.  Whose name is given to the intercaste marriage assistance scheme provided by the

Government of Tamil Nadu?

(A),A)r. Muthulakshmi

(B) Moovalﬁr Ramamirtham Ammaiyar
(C) Annai Theresa
(D) D.r. Dharmambal Ammaiy.al_‘
(E) = Answer not known .
AL 'lgcratrrsb_ mgprﬁ;asﬁru@Lb"&euqu Q@mmﬁ 2gals Hlird, wrflar  CQuuigme
alpmsILHEDS)? '
(A) LU (pdgiel gl
B)  epeugnt GITOMOTSLD SIDENLOWITT
(C)  =eanen @gl;r&rr
(D) Lr&ELAT. SMOMBUTET ST
@) o Defluione
PTGS/2021 == T =
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93.

94.

e i

Which district is having the highest HDI in Tamil Nadu?

®

(A) Theni
(BMKanyakumari
OF Awivalur
(D) Chennai
Answer not knov&n

SOIPHTL 196 6ThHS mneﬁ_ LD épg‘;]as HDI Qaregr(Rereng ?

4
(B)

©

(D)
(E)

- Ggefl meul L 1b *
asraha&_ﬂu_lrr@mﬂ
cﬁlﬂmgmr’r
Qecnanar

eflenL_ s flwelldensy

‘Name the Chief Ministe_r of Madras Presidency (Tamil Nadu) when India got

independence in 1947. -

- ®

(A)JI‘anguturi_Prakasam |
{85y - O.FP Ramasami :

(C) - C. Rajagopalachari

qy  PSs .'Kumaraswamy'Raja
(E) Answer not knbwn

1947, & @;r;ﬁu.lrr F8HHID S bsGung Ceememen wnsTangsle (SLODLBTH) PSOMLFETTS

- Bopse
A srggnf Sll;ra;rr&Lb
(B) O.P. grosms
©)  C. yimGamurerésmt]
(D) P.S. @wrgsms grgr
flenL Qsflueiaame

55 = | PTGS/2021
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95. Identify one of the statement is correct regarding the Queen Velunachiyar :

@ -

(i)

Thandavarayan Pillai served on the daluvay and Pradhani under Qﬁeen

Velunachiyar

_ The British troops killed her husband Muthu Vaduga Udayadeva in the batt_l'e

 of Kalayar Kovil .

Gii)
(iv)

(A

ay
©)

Periya Marudu was a commander of the army under Queen Velunachiyar =

Marudu brother declared the Trichy Proclamation ;

(i) is correct (i_.i)," (iii), (iv) is incorrect

- (@) and (i) is correct (i11) and (iv) is incorrect

@), (i), (111) are c_orret:t (iv) only incorrect

-~ (DN @), (1), (i), (iv) are correcf-_

- (E)

Answer not known

: &la'g.a‘seﬁm__@g')rjlsb GQJQ_[ [BTES It @@g;&, sflwme S%L,I'_f}gll GTE?

(@)
(i)

. STEHTL QU TG !E]GiTém@{.g,@munu'_l LOMHMID @r,rgrfeﬁﬂhrr& Geugy g;n&ﬁunrﬂ_LLb Q@aﬂqrﬂggnﬁ

GeugupreflwmT senreu @p[&;@]'m@a o LUl Gg;euam'r; Gl g6y Lient sTenerwmT Gamelled

- Gunlé Qamenpg).

- (111)
(iv)

D)
B)
©)
o
(E)

PTGS/2021

Quilw g Geugy !B.Wéauﬁ(séé@.U@I__g SRS @) (HHSTT
iRl ﬂgaa@@ig@ Coa
) & (i), (i), (i.y)._g,eug)rrwg

6 Gred. Gl s (9) b

(1), Gi); (iid) & Giv) 100 Gib seuprens,

@), (i), (iii), (iv) afﬁ}quremg .

Gﬁlsml_.@g;ﬁlu_laﬁléumm '

56
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97

R

Who griefs confront with meek ungrieving heart? _

(A)/he one who makes sorrow 5uffel

(B)
©)
(0
(E)

(4)

®)

©
(D)

(E)

The one who get-S'deJected in sorrow
The one who escapes sorrow

The one who laughs onlooking sorrow

Answer not known

'@GLIJG&}.U&@ @@_’L’_Dmuu u@@ur’r’ — w?

SLEEDEH SeTUD sEHLaT

GIQTULD SEWT(H &IeUeTLIGIT

- Gl Senwt(h el @ Lieur
.gﬂsﬁ%u@ sei(h Afliueur |

sl GsfMueddeme

Suklramdhl Manunool has been followed by Thlrukural say some but this is refused

(E)

D

says that Thlrukural 18 the first book

: (A)JNakklranar e Ho (B) Ava1yaar
(C) Manakuvar : (D) Parimelazakar
Answer riot known

- &&ATHE, LD@J@JTGU @gmﬂmmﬁ)@é&r allfl mred AmpE@mer eramuimien amﬁ)emm'mgjggﬂ EIGEIGIVED

; B HIGa eremeul -

@)  péSremi | | B) ger@am
Loamféa@_mr’r_ e = = . uMGepsit

® |

el Az Mweldena

L S PTGS/2021
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98.. Elaborate surve.y of land was carried out by the imperial Cholas

)

=

To assess land under cultivation

To classify land into different grades

(i) To mi_nimizé_ arbitariners in the holding of land

(iv)

To encourage guild system

Consider the above statements and select the correct response :

@)

-
©)

1), (ii). and (iii) are true
(i) and (iii) are true

(11) and (111) are true

(D)\/@) (i1), (ii1) and (iv) are true

®)

Answer not known

Geraugmid srremiisErssTs Wpsta Genpisame elflairer floserae Cop@srereriilLg)

@
(11)

efleuamu HleomisEeneT SeTLILISHETS

u@Geu Liglepasaflen ,@Gug_ssmg, uemsL uBSS

i) Bl o Nevwsefe Clomsisamars seliliLSHENE

Gv)

cuenT &S @@éascmm <G ugmasrras

CupsadluedBléd cranau flwrarane? |

(A) (@), (i) womid (iii) &

(B) G) pmud (iii)e;aﬂ '

(€) (1) wpmd () sl

D) @), G, i) oppd () &

(E) aﬁlm;-@glﬂusﬁlmmm
PTGS/2021 = 58

: https://www.freshersnow.com/prévious-yéar-queStion-papers/
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100.

"

Y

B)

©)

(D/ Ambai

. Identify _the great Wo_rg_éin writer among all the following four

Suratha
Sujatha

Mowni

An%wer not known

Sppg Cuam apssrant Guwflemen LEL@L'O & (h&

()

®)
©

D)

E)

&-J{é’;ﬂ

FEOMGT |
Quaref]
c_j'qubaa_)u

eflenL_ @g,rﬂu@ﬁ]sbsﬁ:)@) |

Name the work that says : Wealth changes it-.s position like a Cért»Wheel

(A)

- Thirukkural

(BWaaladiyar .

(€)
D)
(E)

Naanmanikadigai
Aasarakkovai

Answer not known

‘Ceeraud 51L& smeELIME) QU(BLY — ETETM] Samith HITe0?

(A)
(B)
©)
D)
(E)

Blmé@mar

[BIT&01q WITIT .

BTG Solg 6hE

25568 Tena

sflenL Glgflweldena

59 = PTGS/2021
: [Turn over
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